—_—
—_—

-2

h — B X

.1|||'|'[|'

i

\J|H

AN

—_—

]}






i

o+
2

i
Rt
\]
o
ajo

TS EEERTIEY - ERXAFEERIZFTH

SRS FEEFRTONEY — X FERFOTHEIT,
(rf Ak T 5

1% WABRHTEORZEIZ, BRAREETLENL1 9,
ABRMTHEROKXREOX 3 OPEHZXS I &0,

TMBHEIZI AT H EME

- 285 -

RICEDO D & AITK D,

342 THEED D,
(1R BARHETE]

e 12

e
g
3
A

(

.
—

LD,

B
Cif



O w Aok T R
(HAL M)
K H & #H
oA 12, 460
I 1%} fa F # I A 12, 460
2 & 4, 882
1 = #t i A & 4, 882
i & 2, 000
1 el A 2,000
e x N = 19, 342
ik (Hfr  TH)
K | & #
e # 9,102
1 % (4 B # 9,102
2 9, 740
1w = o # X & F ¥ % 9, 740
# 500
I i fii # 500
% t = B 19, 342




TR ICHE T 2 E
e AN R Mo B OF o B OB O E
1
A (WAL M)
K AKAEE T HE M [ELI RGN = It i
1 — [ A Y N 12, 460 11,923 537
2 fi A &> 4, 882 2,976 1, 906
3 214 & 2, 000 3, 000 A1, 000
75 A & 2 19, 342 17, 899 1,443
o (AL 1)
K OE E T B @ oo WM OE AN
K REETRERFEE THEE L B 53 E i) i v A
ERXHEe | 5 E|F o i
1 # % # 9,102 7,805 1,297 2,720 6, 382
2 # * # 9, 740 9, 594 146 9, 740
3 F fii # 500 500 0 500
7% sl = 3 19, 342 17, 899 1,443 12, 460 6, 882

- 287 -




2 A
Gx) 1 —rEeRILA

- 288 -

1 PRIRa AT R

K OFEOE R 5 i
H Lo
T H M O X 53 &
LN #ETY—E X 12, 460 11,923 537| 1 ME TRV —E X 12, 460
Fom B O A OB O A
At 12, 460 11,923 537
GR) 2 AL 1 S FH A4
1 — =i A& 4, 882 2,976 1,906 1 — fix &= 3l #: A & 4, 882
i 4, 882 2,976 1,906
G&R) 3 fBis 1 e
1 & 21 & 2, 000 3, 000 A1,000) 1 21 & 2, 000
i 2, 000 3, 000 A1, 000




% (TH) 1 RBEEER (Hhr M)
A HE EF|ORK £ OE o B OK AN R i
H (ﬁﬁﬁfz) ¥ E i) IR — ﬁ&“ x4 b B 2]
( )| ER A o EE o ] R
1 — % 9, 102 2, 720 6,382 2 #A Bt 4,559|01 —EHE 9,102
B O #|( 7,805) STEFYUE 2,724 2 f&kH 4, 559
( 1,297) 14 F OB 1, 340 10 — ki
FHE B # 401 3 METYE 2,724
11 % % % 69 04 WEH T4 134
26 2 AR & 9 07 MIEKFTY 1,003
08 #hfh T4 878
09 FERISMENE T4 50
10 FZRENE F24 43
13 B F Y AafHe 616
4 Sy 1, 340
01 B EILFHGAHES
10 FHE 401
01 VHEESHE 240
02 BB 67
04 FIRmISRIAE 48
06 fERER 46
1 %8B 69
01 FfER} 20
57 BEhELRBRE 49
26 NiR# 9
01 BEHHEERH
E 9, 102 2, 720 6, 382
( 7,805)
( 1,297)
F) 2 HEE (H) | BENEERER
1 ST b5 9, 740 9, 740 1 # i 596101 IEENEFHIIBEERE 9,740
53 | ( 9,594) 3HRE F Y% 1,193 L M 5, 961
= 2( 146) 8 Jit & 326 20 FIE AT FHIE B A

- 289 -




- 290

GR) 2 HEHE () | JBE R ER (B) | &P it (AL TM)
KO A F O o MO OW AN R i
H CHiT A ) K iE ) TR — & N B B
( )| ER A o EE o ] R S &
12 &% FE B 2, 260 3 METYE 1,193
20 DEHMFEETABEMARTY
8 fikte 326
20 EMEEAT A E A A E
12 ZE3Eht 2, 260
04 Jri& TRhEHEERRZRER}
7 9, 740 9, 740
( 9,594)
( 146)
) 3 Tt () 1 P&
1 ¥ i & 500 500
( 500)
( 0)
7 500 500
( 500)
( 0)




— I HEk
1 # #
(AL TH)
x5 kA - 4 i & i
- RN KAk FIEEEE 5 - -
o ( 3 )
& &5 L3 1 5,961 4, 559 3,917 14, 437 1, 340 15, 777
Wi JE ¢35
- 1 5, 869 3, 988 3, 402 13, 259 1, 147 14, 406
B i ( X )
92 571 515 1,178 193 1,371
o Ak ¥ 73 (ﬁfﬁk ZFQ)
N e I 5] D i BHL‘%;‘\,
I\ N7z N2 N7z
Koy EEFE | BIRTE | BRTE | geeew | ogmew | s m e
kB T4 AR JE 134 2,196 878 50 43 616
D N AR HIJAE L 134 1,977 702 50 0 539
g 0 219 176 0 43 77
(1) =FAEEEABRELSNOR: S (AL TH)
= A /J‘L\ lﬁ:"“ % 3 = 23
I\ H = 3 AN =
X A L R TRETT R 8 i =
N ( 0 )
& &5 L 1 4, 559 2,724 7,283 1, 340 8, 623
. i ( 0 )
il &5 = 1 3,988 2,298 6,216 1,147 7,363
o C0)
2 % 0 571 496 1,067 193 1, 260
— — o (%ﬁﬁjx EF'%)
N N4 N4 et N2 H‘ FEﬁ > ﬁ EHL‘QE”
LN
e FY4 AAEE 134 1,003 878 50 43 616
D AN OER AR 134 803 702 50 0 539
T 0 200 176 0 43 77

- 291 -




(2)

DEHEEEHREE

- 292 -

(€ 2a
o — w5 & : P -
b MR gL T BET T 6 o fi
- ( 3 )
A S L3 0 5,961 1,193 7,154 7,154
. - ( 3)
HY S =< 0 5, 869 1,174 7,043 7,043
" ( 0)
e L 0 92 19 111 111
(HAr TH)
X 4 KT
kB T4 AR JE 1,193
D N R HIJAE L 1,174
A 19

{iES)

) WIE, FERFREBEREEEZIES LIELOTH D,




2 FEHE OB T2 O FE R O IR
(HAL TH)
X4y HEJRAA ARk HR B PR B ] fis =
ek 571 AR 17 NI SEIE SRS 0.37 %
£E 5 N5y e R 2 2k
(F-#a4D) (B %0
4 A 1 A
7 A - A
10 H — A
1 A - A
Z DD 554 (1) HEF 248D B - B ORI
AWy (BH) (3B HEk)
ot FE — A - A
2 B — A — A
3 FEE — A — A
4 R - A — A (T
F4 496 Z DD 496 (1) kT4 200
AWy (2) #hh T4 176
(3) HFERENHS T4 43
(4) 1BEE T4 A4 77

- 293 -




- 294 -

3 KRR O R T4 ORI
() BB 1AM E5
X A B R
S A6 10 A 1 SEYgRSREH FE 236,900 Y
1;% g E SRS 5 A A8 987,034 [
SEY 31.01 1%
A I3 10 A 1 NS SFEYSPEE | 240,700
o g Vg 51 A8 303,719 1Y
RIASEES 32.04 %
(2) #fEta
N [ Dl
X5y 17 Bk —
7 T EOT
R 2R 154,600 [ 154,600 [
KF2E 185,200 Y 185,200 M




(3) Rl Bk

e

17 B

Tk

B (N)

HEREE (%)

P2

2

100.0

o

S 410 A1 H

7l £

s‘%; s

2

~N|o|olelw|o]—
&
S

=

]

=

2

=

S fM3E10HA 1A

£l £

%;1\ 5

2

~N|o|lole]lw]|o|~
e
S

2

]

CRR B DS 73 AN AR 55

X 4

1 #&

2 %

6

R DS Sy BN A

T
s3]
Be %l

FH 24 D%k %
A R
FF AR

iR
RIZ

- 295 -




- 296 -

(4) F4a
R & F 17 B
BEH () (N) 1
AR D EEB) (N)
154 (N) — —
25% (N) - -
VN 35% (A) — —
El s L 2 ! !
6% (N) - -
754 (N) — —
85 (N) - -
FE®B) /(D) (%) 100. 0 100. 0
TEH OB (N) 1
AR DB ELB) (N)
154 (N) - -
254 (N) — —
] 354% (A) — —
E | s LY L -
654 (A) —
Tk (N) -
854 (A) —
HEB) /) (%) 100. 0 100. 0
(5) FrkEhE T2
E 7B W
mEHRgIC T o (%) 0.94

KR BRIBE DR (%)

(BFN44E10 A 1 HEBIAE) 100

RER 2R R BN T2 DA FF DRAEAT A PRIRZERS T4




(6) WIRFY - #hith T+

SCARIRISAR ; W OREIC L D
AN J s = IN 77 VT SR
K TRGES 2 () st (159) L W
KL 2.200 2.200 4. 40 H
AR 2. 150 2.150 4. 30 H
(7) IR M OV SE B T 4% 2 a8k T34
X 4y 204F Bl DA 25t DA 35 Ehie D P Z DD TR R stz
- (H4) (H4) (H%) ) oI I -5 &
TE AT BRI
ARHRE 24. 586875 33. 27075 47. 709 47.709 RE I FE e
(2% ~20% hNE)

- 297 -







